Sections 30.2/30.3/30.4: contid

Thursday, March 07, 2013 10:33 AM

example: Using the definition of Maclarin series find the first four non-zero terms for f(x) = sin x.

| $f(x) = \sin x$ | $f(\omega) = 0$ |
|--------------------|-----------------------------|
| f'(x) = cosx | $f'(0) = 1$ $\int sets$ |
| $f''(x) = -\sin x$ | £"(6) ⁼ О 🔨 🐙 |
| £'''(x) = -œsx | $f^{((G)} = -1$) a pattorn |

$$f(x) = f(0) + f'(0) \times f(0) \times \frac{1}{2} + \frac{f''(0) \times \frac{1}{2}}{3!} + \dots$$

$$= 0 + x + 0x^{2} + (-1)x^{3} + \cdots$$

$$= x - \frac{x^3}{3!} + \frac{x^5}{5!} - \frac{x^7}{7!} + \cdots$$

=) this series is called on alternating series

Maclavin series of cosx:

example: Use differentiation of the macharin
series for sinx to find the Macharin
series for cosx (find the hist four
non-zero terms).

$$\frac{d}{dx} \left(\frac{\sin x}{2} \right) = \frac{d}{dx} \left(\frac{x}{2} - \frac{x^3}{2!} + \frac{x^5}{5!} - \frac{x^7}{2!} + \frac{x^7}{2!} + \frac{x^7}{2!} + \frac{x^6}{2!} + \frac{x^7}{2!} + \frac{x^7}{2!} + \frac{x^6}{2!} + \frac{x^7}{2!} + \frac{x^7}{2!} + \frac{x^6}{2!} + \frac{x^7}{2!} + \frac{x^7}{2!}$$

$$\sin x = x - \frac{x^3}{3!} + \frac{x^5}{5!} - \frac{x^7}{7!} + \dots$$

$$(1+x) \sin x = (1+x) \left(\begin{array}{c} x - \frac{x^3}{3!} + \frac{x^5}{5!} - \frac{x^7}{7!} + \cdots \right)$$

$$= \left(\begin{array}{c} x - \frac{x^3}{3!} + \frac{x^5}{5!} - \frac{x^7}{7!} + \cdots \right)$$

$$+ \left(\begin{array}{c} x^2 - \frac{x^4}{3!} + \frac{x^6}{5!} - \frac{x^8}{7!} + \cdots \right)$$

$$= x + x^2 - \frac{x^3}{3!} - \frac{x^4}{3!} + \frac{x^5}{5!} + \frac{x^6}{5!} + \cdots$$

find the first four non-zero terms of the Macleurin serves for f(x) = l^{2x} cos x

$$L^{x} = 1 + x + \frac{x^{2}}{2!} + \frac{x^{3}}{3!} + \cdots$$

$$L^{2x} = 1 + 2x + \frac{4x^{2}}{2!} + \frac{8x^{3}}{3!} + \cdots$$

$$G_{5x} = 1 - \frac{x^{2}}{2!} + \frac{x^{4}}{2!} - \frac{x^{6}}{6!} + \cdots$$

$$e^{3x}\cos x = \left(1 + \frac{3}{2}x + \frac{3}{2}x^{2} + \frac{4x^{3}}{3} + \dots\right)\left(1 - \frac{x^{3}}{3} + \frac{x^{4}}{34} + \dots\right)$$

$$= \left(1 + \frac{x^{3}}{3} + \frac{x^{3}}{3} + \frac{x^{4}}{34} + \frac{x^{4}}{34} + \dots\right)$$

$$= \left(1 + \frac{x^{3}}{3} + \frac{x^{3}}{3} + \frac{x^{4}}{34} + \dots\right)$$

$$= \left(1 + \frac{x^{3}}{3} + \frac{x^{3}}{3} + \dots\right)$$

$$= \left(1 + \frac{x^{3}}{3} + \frac{x^{3}}{3} + \dots\right)$$

Ch 30 - Series Page 3

